= =R
ma —mb + mc & A5E35

rek

AL

® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma—mb+mc=m(a—b+c)




2. (x+5)7-2(r+5) B AFEsA?

@ (x+3)(x=5) @ (x-3)(x+5) ® (x-6)(x+3)
@+3)(x+5)  © (x-6)(x+5)

(F)=(x+5)(x+5-2) = (x+5)(x+3)




(x+2)? = (x—1)(x+2) & Aot 7rks] YepH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




4. (20-1)7-(x+2)22 ASENN (3x + a) (x + b) 7F Hckar gt
ol wf, a— b FE F5HH?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4




5. 1% -y +4dyz - 422 S ARSI Y
(x+ay+bz)(x—y+cz) 7L HATE olW] a + b + ¢ 9] FH2?

®-1 @n ® 2 @ 3 ® 4

~&B

=y dyz- 42 =57 - (0 -z +42)
= x? - (y - 22)?
=(x+y—22)(x—y+22)

et a=1,b=-2,¢c=2922 g+ b+c=10|t}.




@ 2(x+1) (x— %)
@ 2(x+1)(x-1)




(x=2a)(x +a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




8.

(x=y)(x-y+4)+4 5 52N (ax + by + ¢)? E9 A7}t

2ot o, a+ b+ ¢ O FH2?

@2 @ 4 ® 6 @ 11

~&B

x-y=AztsHd
AA+4)+4=A2+4A+ 4
= (A +2)?
= (x-y+2)?

Ot a=1, b=-1, c=2°|BE
a+b+c=1-1+2=20|th

.




(2a-3b+1)?-(2a+3b-1)> =8a(Aa+Bb+C) & T, A+B-C
= F-shofzt.

>

[> Hell A+B-C=-4

20-3b+1=X, 2a+3b-1=YZ=E xg5}H
(2a-3b+1)2 - (2a+3b-1)?
=X’-YV’=(X+Y)(X-Y)

= 4a (-6b+ 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




xy=3y+x-3 & ARt (ax+b)(my+n) S, a+b+m+n
o] k& Foha?

@ 1 @ 2 @0 @ -1 ©® -2

yx=3)+(x-3)=(x-3)(y+1)
La+b+m+n=1-3+1+1=0




4x% — 9y? — 30y — 25

= 4x2 — (9y? + 30y + 25)

= 4x2 - (3y +5)2

= (2x)> - (3y +5)?

= (2x + 3y +5)(2x =3y -5)

mebA] Q14E= (2x+3y+5) @F (2x—3y—5) 2} (2x+3y+5)(2x—

3y —5) o]t}




13. x®+5xy+2x-5y-3 2 A-E3|5HH?

@© (x4 1)(x+5y+3)
® (x=1)(x+5y-3)

® (x+1)(x-5y-3)

@) (x-1)(x+5y+3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




14, x*—y?+6x-2y+8 & Aol (ax+by+c)(x+y+4) & o,
a+b+c 2 = Fstoiet

x2—y?+6x—2y+38
=x?+6x-(y?+2y-38)
=x2+6x-(y+4)(y-2)
— (- (= + 0+ 1))
=(x-y+2)(x+y+4)
ca=1,b=-1,c=2
La+b+c=2




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab




